Plotting with Pyplot-I

Histograms, Frequency Distribution, Boxplots
2Hidivats uGachd U smenisa

FEIgiT -4 (IP)

SR
° O N\
TolldDIR [9181b (IA°10Iab fasireT )

N

do fdo aRIddb] (613 AHIST)

Tofld HeIRAT, o fdo SRS



Histogram

foer sregm@ ®§ g9 pyplot # =T line

graph, bar graph, pie chart, $ii% scatter |~
graph ST | |

=9 FLATT | g9 histograms, frequency |,
distribution 3T polygons = 1< ¥ el

Histogram TF UHT plot & ST T .
continuous data # T §< %I underlying

frequency distribution &I a1 FXA %

oI &l <@ o o FohaT STTav g |

g 29 underlying distribution = 7T data % <& (inspection)
i STHTT <aT ¢ |

Histogram a9+ & 1T 9g<f data &1 s{q<ret (bins) # STeAT 94T ¢
72 bar chart ¥ TeRT 21dT @ 11 38H bar F H&T T Tg! 2l ¢ |
T8 & (area) T ATYTRA BIAT & 7 =l bar &t &=Ts 97 |

Hailg HEIRAT, o fdo aRTEH!




Pyplot & Histogram s=TAT
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hist () function & Histogram s=T=T

* Syntax—>
matplotlib.pyplot.hist(x, bins=None, cumulative=False, hist
type="bar’, align="mid’, orientation="vertical’)

« X-» array or sequence

* bins—> takes an integer. This calculates edges.
« Cumulative—> default is false

« Histtype—> {'bar’,’'barstacked’,’step’, stepfilled’}
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https://matplotlib.org/3.1.0/api/ as gen/matplotlib.pyplot.
hist.html
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hist () function & Histogram =TT

Bin Frequency |Scores Included in Bin 401
20-30 2 25,22, Sy
30-40 4 36,38, 36,38, ENISECIAS HT AT | | 201
40-50 4 46,45,48,46, %’Fl'ﬁ' 10 — 10 & <0 | ST data
e 2:555238,55 faafa & ST histogram 9T+ “
70-80 1 72, |€=’|Q 5|§|3 %l 101
80-90 0 - os
%‘ 1{[' 1 91 00 _20 30 50 60 70 80 90

>>> a=[25,22, 36,38, 36,38, 46,45,48,46,55,55,52,58,55,68,67,61,72,091]

>>> pl.hist (a,bins=10)

(array([2., 0., 4., 4., 4., 2., 2., 1., 0., 1.1), array([22. , 28.9, 35.8, 42.7,
49.6, 56.5, 63.4, 70.3, 77.2, 84.1, 91. 1), <a list of 10 Patch objects>)

>>> pl.show()

STLITh QT80T &l ATa 5-5 % AL F TATAN ar !
histogram =T €9 a7 ST < T THL [&ET | ]

S>> a=[25,22,36,38,36,38,46,45,48,46,55,55)%2,58,55,68,67,61,%2,91]
>>> pl.hist (a,bins=5)

(array([2., 8., 6., 3., 1.1), array([22. , 35.8, 49.6, 63.4, 77.2, 91. 1), <a 1li
st of 5 Patch objects>)

>>> pl.show()
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hist () function & Histogram =TT

import matplotlib.pyplot as plt

lmport numpy as np

1Tmport random

x=[] 3

for 1 in range(0,100):
X.append (random.random() )

plt.hist (x,bins=50) >

plt.show() o

1mport matplotlib.pyplot as plt||e

1lmport numpy as np
1mport random
x=[]
for 1 1in range(0,100):

X .append (random.random() )
plt.hist(x,bins=20)
plt.show()
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hist () function & Histogram =TT

import matplotlib.pyplot as plt
lmport numpy as np
1Tmport random
x=[]
for 1 in range(0,100):

X.append (random.random() )
plt.hist(x,bins=20, cumulative=True)
plt.show()
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Tmport matplotlib.pyplot as plt
Tmport numpy as np
Tmport random
=[]
for 1 1n range(0,100):

X.append (random.random () )
plt.hist(x,bins=20, histtype='step'")

plt.show/()
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&7 arrays &I T& 9T histogram & ATAT

1mport matplotlib.pyplot a2s plt
import numpy as np
1mport random
x=[]
for 1 1n range(0,100):
X .append (random.random() )
y=1[]
for 1 1n range(0,100,5):
V.append (random.random () )

plt.hist([x,v] ,histtype="barstacked',cumulative=True)
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plt.show()

1mport matplotlib.pyplot as plt
1mMport numpy as np
1mport random
x=[]
for 1 1n range(0,100):
X .append (random.random() )

plt.hist(x,bins=50,orientation="horizontal')

plt.show()
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Pyplot & Frequency Polygons S9THT
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Boxplot 1T
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Boxplot 1T

« Syntax -

Matplotlib.pyplot.boxplot (x, notch=None, vert=None,
meanline = None, showmeans = none
showbox=None)

X-> array or sequence
Notch—>  if True, will produce a notched box plot.
Vert-> iIf true, makes plot vertical.

Meanline-> if true, will try to render the mean as a line.
Showbox=> if true, show the central box.
Showmean=> if true, show the arithmatic mean.
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Boxplot T4T

tmport matplotlib.pyplot 22 plt
ary=[5,20,30,45,60,80,100,140,150,200,140]
plt.boxplot (ary)

plt.show ()
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Boxplot aTHT

tmport matplotlib.pyplot as plt
ary=[5,20,30,45,¢0,80,100,140,150,200,140]
plt.boxplot (ary, notch=True)

plt.show()
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Boxplot aTHT

tmport matplotlib.pyplot 25 plt
ary=[5,20,30,45,¢60,80,100,140,150,200,140]
plt.boxplot (ary, showmeans=True)

plt.show ()
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Boxplot aTHT

Tmport matplotlib.pyplot as plt
A=[34,18,100,27,54,52,93,59,61,87,68,85,78,82,91]
plt.boxplot (A, vert=Falce, showmeans=True)
plt.title("Horrizontal Box Plot")

plt.xlabel ("Value Rangem)

plt.show()

Horrizontal Box Plot
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